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| For each differential equation, find the solution that passes through the given initial condition.
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2x%y from question #4 is shown

dy
dx

5. The slope field of

f(x) when f(3) =1

that you found in question #4 on the slope field.

below. Draw the particular solution y
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f(x) when f(—2) = —3 that you found in question
T A DN

#6 on the slope field.
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shown below. Draw the particular solution y
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7. The slope field of

-3.
Answers to 7.7 CA #1
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f(x) when f(=2)

particular solution y

T T T e e P I 2 A 4
N R N S m m P A L A d
L N R A A
[NENER NN AR
® INE RGN R N
| N N A Sy e e s F 7
S [N A R Y
Z_Mv AR S AW s e e g /4
I [ A NN G N A, \.‘\\\‘\\
> VAT~ \1_\.,\_\.
T S W N PN ROV 2P BV T
< vy v v s | o d
I ] ] A} z,h [} ] |
| ] ! ! \ ] ] |
\e) 1] 1 L Ny N \ 1
— i IR EEE R \
o [N VAN 2PN S EESE NN SR}
= 7 77 7w =Tlox~ YW
<
<
=
— |
|
I
o
i
4L
=
<
SIS
~
=
|
- oY
=) g
s ©
Q
[\l
Il
e} B ISP Ll
B
I P [ A A I
-
[ R [ R R R
R T T R
— B PP R R
< BN T S A S B e e
+ L R L Y \ ] PV SV Oy QF
= + + + + + + + +
Q TSNSy | 072077
Lo Lol ol ol loll1z]
= R AR 72 S R
—
| et Tl TSl RO S ety
Il l-LJ-+-L-1-1
1] Tttt ~r~l-r-ror-q
y L e e e el e et s et
— e e e

6. Solve the differential equation




